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Pag | SCRITTO DATA I esercizio II esercizio I1I esercizio
1 | McE 31/03/2003 0.352 m/s 4m /3 V(/g)
2 | McE 14/04/2003 735.8 m/s 7 rad/s 4.9 cm
3 | McE 25/06/2003 1.4 m/s; 0.5 m g 263"33 Ke 426 m
mog((2m1+M/2)/(mi+me+ a) 0.33 m
4 | McE 09/09/2003 M) by > 0.466 210 W
)23 a) 5Sm/s
5 | McE 29/03/2004 LT 0.47 m/s; 1.17 m/s b) 125!
b) 1.05 10° N/m
) 0.167m
6 | McE 13/04/2004 0.14 N/m 0.39m 1.43 m/s
a) 6.03 m
7 | McE 01/07/2004 b) 4.26 /s ;‘3 ;‘?ns k(glf“ 0 0.70 J; 67.6 N/m
©) a<21.8° glireos
8 | McE 10/09/2004 0.19 Kg 8) mi > 20 m; 0.222'm
b) 217
9 | McE 23/03/2005 11.9 rad/s; 0.367 m 32s 0.84 m/s
()
10 | McE 07/04/2005 14 rad/s; 4.2 m/s 8) 27.5 10°J 45°
b)3/2u
a)45]
a)4.5] a) - 0.3 rad/s
11 | McE 30/06/2005 b) 30 ms b) -14.95 ] b 67.1]
c)rotF=0
12 | McE 09/09/2005 0.55m 4.26 m/s; 0.98 m/s’ 11.46 rad/s
a) 7 m/s (m+M)/mcosa X
13 | D&TD/McE | 21/06/2006 254 cm/s b) 15 m/s \
\2glsina
c) 7.5 m/s
. _ DT: h/2 a)2.45]
14 | D&TD/McE 12/07/2006 32 ﬂs’ 8 m/s; MCcE: (mvo’- b) 9.8 N
> s kI2)/(2mg(D+)) ) 22.1 m/s
a) mv V(1/k(m+M) 2) 15 radls
15 | D&TD/McE | 08/09/2006 b) x=mv\(1/k(m+M) cos b) 0,02 ] pho S g (H-ho/2)
(Vk/(m+M)t—n/2 '
16 | D&TD 18/01/2007 7 m/s 8) 3.33 rad/s
b)10s
a) mv: t/(1/2 MR?+mr?)
17 | D&TD/McE | 25/06/2007 b) MR2vg(MR™2mr2) 860.23 N's 500 s
18 | D&TD 16/07/2007 233 m/s 8.4 cm 1.8 m
a) 11.2 10° m/s 1.88 m/s; 1/47 m/s; a) 15007
19| D&TD 07/09/2007 b)2.710%s 2.94 rad/s b)20.4 m
a)2s
20 | D&TD 29/01/2008 20W b)2.4s 20 m
c) 8.6 N
a) V(2hg/(1+m/M));
21 | D&TD 02/07/2008 3.6N ;‘3 2122“;?1/ S m/M V(2hg/(1+m/M))
) b) m V(2hg/k(m+M))
1) 1.36 rad/s
22 | D&TD 23/07/2008 17.32 cm; 11.54 rad/s 2)43.98]
3) 25.08°
2)02 a) 2.4 10°m/s
23 | D&TD 25/07/2008 1.4 m/s? b) 7.8 m b) 2.64 108 J
s ¢) 1.16 10% kg m?/s
a) V(6 To/mL) v(3m-4M)/3m+4M); .
24 | D&TD 09/01/2009 W VOTo27L) 2/a 6m/Bmt4M) 10.1 10*N
a) 0.093 m; 0.1 m/s 5.33 m/s%; 106.6 rad/s%;
25 | D&TD 02/07/2009 by -1.2 mls: 0.2 m/s 0.67N: 0.62N 10.82 m
a) 5/7 vo
26 | D&TD 11/09/2009 b) 2vo/70Ig M/m V(gL/6) 3691 m
c) 12vo*/490g
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a) 10N a) 0.5 m/s 25
27 | D&TD 25/09/2009 b) 10 s b) 2 rad/s g 213? ig_zs?
) 7507 ) 0.027J :
) a) (mi+tma)g/L
28 | IaM 29/01/2010 0.785 m/s; 2/46 m/s 10.0 cm .
) Lmo/(mi+mo)
a) nessuno
29 | D&TD 29/01/2010 b) V(10gh/7) 2 rad/s
¢) 7/5 m ((2u+v)/3)
30 | 1aM 18/02/2010 1225N; 185 g ;?ﬁ;‘vmn -3920J; 7399 J
31 | D&TD 18/02/2010 59¢g 8139 N/m’
32 | 1aM 15/06/2010 102 m |gsina-acosal/ 4.81 m/s
(asino+gcosa)
a) 0.46 m
33 | D&TD 15/06/2010 by 1.79 ms? 12.11
a) 0.57 a)24.6° 04.8° a) Yamk?d>-mvokd
34 | aM 06/07/2010 b)0.31 5)5.98N038IN | b)-mk(vokx)
a) 12 m/s
a) 4mg/((M+4m)R) b)361]
35 | D&TD 06/07/2010 by mMg/(M-4m) & 3 ms
d) 200 N/m
a) 4.05 m/s?
b) 3.15 m/s? a)17.94 s
36 | 1aM 06/09/2010 0265 N b) 3747 mm 3.41 m/s
d) verso mi
a) v V(m(ki+k2)/20k1k2))
37 | D&TD 06/09/2010 b)v/5 4.04 cm
o) V(dkiko/5m(kitk2))
38 | IaM 20/09/2010 8195 023 m/s; 1.92's 3
b)3.75s; 129 m ' o 9
a) (1/2+9) V(m/k1)
39 | D&TD 20/09/2010 by 4120 VGkiks) 987
40 | 1aM 24/01/2011 6 123.1 m/s 1.37 s
a) \(4gH/3); V(10gH/7) A/
41 | D&TD 24/01/2011 b) V(3H/gsin’a); i) 3 g‘; U
V(14H/5gsin’0) ) 3.23 rad/s
a) 1154.7N ) 16]
42 | IaM 21/02/2011 1.125 m b) 2.6 m/s b) 9.4 ms
©)210°] :
a) 5.3 m/s? a) 160 m/s
43 | D&TD 21/02/2011 b) 13.5N b) -16 kg m/s
o1 ©) 1296 ]
a) M2
44 | IaM 23/06/2011 2) 0.409 s 4.17 cm b) 0.5 m/s?
b) 9.7 cm
¢) 0.38
45 | D&TD 23/06/2011 -50.5Nm
46 | 1aM 14/07/2011 -10278.6J 4.057 2.89 cm; 272.2 cm/s
a) 1.46 s
47 | D&TD 14/07/2011 150 m b 197 5
a)2s a)-1471]
48 | IaM 06/09/2011 47.67 m da terra; 1.21 s b)4.9 m b) -987J
©)2707]
a) 0.46 N
49 | D&TD 06/09/2011 by 405 152 Kg
a) F.=-9.5N; F,=9.8 N a) 104 J
50 | IaM 20/09/2011 b) ax=2.375 m/s%; b) 1357 5.1m/s
,=2.45 m/s? ©)-2357
51 | D&TD 20/09/2011 a) 1 m/s%; 264 N; 21.6 N
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b) 142.1N
a) 6.58 m/s’
52 | IaM 24/01/2012 b)17.3 N (In2)/k Vedi I FN
c)0.21s
53 | D&TD 24/01/2012 Vedi II FN Vedi IIT FN
a) 0.44 m a) 163 N 2) 0.015 m/s?
| FN 24/0172012 b) 14.65° (oppure 75°) E; é.z4.7raNd/s b) 0.587 N
a) 74 m
55 | [aM 16/02/2012 b)3.26 s Vedi I FN Vedi Il FN
b) 63.43° dall’orizz.
a) -0.52 m/s
56 | D&TD 16/02/2012 b) -46.6 J Vedi III FN
¢) 0.77 m/s
57 | FN 16/02/2012 17 m/s%; 45° da dir. rad. 400888 N/m; 0.51 m R +1/(1-2r/3R)?
58 | IaM 11/06/2012 Vedi I FN Vedi II FN 2131 kJ; 74.5 kW
59 | D&TD 11/06/2012 10.717 Vedi III FN
) a) 25N
60 | FN 11/06/2012 ;‘3 §2é4s9 m/s b) 74° 13.72N
) ¢) 5.74 m/s
61 laM 13/07/2012 Vedi I FN 11.46 rad/s -6 N; 3N
62 | D&TD 13/07/2012 Vedi II FN
63 | FN 13/07/2012 1.35 s; 5.14 m/s? 14 rad/s; 98 rad/s? 1.5 giri
64 | IaM 10/09/2012 Vedi I FN Vedi Il FN 4.26 m/s; 0.98 m/s?
65 | D&TD 10/09/2012 17.32 cm Vedi III FN
a) 22 m/s
66 | FN 10/09/2012 b) 12 m 2666 m 7.14 rad/s
c)17m
67 | D&TD 24/09/2012 Vedi II FN Vedi IIT FN
a) 0.040 m
68 | FN 24/09/2012 0.26 b) 12657 7 m/s
a) A a) 7 rad/s
69 | FN 24/01/2013 bg 0.6 s bg 915 s 2M/m V(5gl)
a) 100 m/s; a)3.21s!
70 | FN 14/02/2013 120° dall’orizz. 0.045 m b)-0.32117J
b) ascendente c) 5.35rad
a)2 m/s a) 2.2 rad/s
71 | FN 10/06/2013 >34.7m b) 8.6 cm b)9.5]
c)31102%)
72 | FN 12/07/2013 v/g+T/2; T<2v/g 3/51 Alégz E’ 2558 N;
a) 167.5 kg; 3.6 m/s%;
73 | FN 09/09/2013 ;‘3 1::3/ 2 1.8 m/s? ;‘3 1/4%3 (L)
b) 100 kg; 490 N &
74 | FN 23/09/2013 h V(1+2uR/h) 6.7 rad/s 0.25m
. 98 N; 98 N;
75 | FN 23/01/2014 26.30 m; 68.77 m o g1ty 0.99 rad/s
30° dall’orizz.
g(maRo-
4 a) mg/3; 11/3 mg miR1)/(Ri2(M1/2+mi)+R
76 | FN 13/02/2014 243s b)0 2(Ma/2-Hmo)):
m2R>>miRy
a) 15%2-1) cm 2) costante a) 40 cm/s
b) -15V2 n/8 cm/s; b) 50 cm/s
77 | EN 09/06/2014 -5V3 /4 cm/s 5 1132]{] ¢) 130/3 cm/s;
0)48's ©) 160/3 cm/s
a) 0.58 a) 170 N
78 | FN 11/07/2014 0.14 b) 0 b) 22.7 m/s?
c) 1.25 m/s
79 | FN 08/09/2014 a) V(gh) a) punto piu basso a) 2gsinf/3R
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b) V(2gh) b) vi(mi-3mz)/ b) Mgsinb/3
(mi+mz); vi(3mi- ¢) atan(3ps)
my)/(mi+my)
a)-11.70 Nm
a) 4.69 m/s’ b) -7.65 rad/s? )
80 | FN 22/09/2014 b) 020 s 0) 45.89 kJ 0.99 m/s; -1/37 m/s
d) 624.4 giri
a) (m+me+M)mog/m a) 18.6 m/s a) V(4gR/3)
81 | FN 22/0172015 b) (mi+mo+M) g(ma/mi+p) | b) 102739 b) V(gR)
a) mg/k; 2mg/k a)431251] a) 2/5 R
82 | FN 12/02/2015 b) Sm2g?/2k b)0.73 s b) vo?/(21u@)
¢) 3mg ) 6257 vclE
a) V(mvo?(ki+k2)/(20
kiko)) a)l5s
83 | FN 12/06/2015 400 m/s; 1.6 10 m b) vo/5 b) 35.8 giri
c)l/n c)45]
V(kiko/5m(ki+k2))
a) pamg/(cosO+pasing) . -0.615 m/s?;
84 | FN 10/07/2015 by atan(u) asin(1.36/m) 0185 m/s?
31,07 a)2s;1.74 s
85 | FN 07/09/2015 122.5.267149/v07 b) 6.26 rad’s; 0.55m
7.23 rad/s
a) 0.125 m;
86 | FN 21/09/2015 424 m/s%; 45° ;‘3 ?'682;‘3 1.25 kg m?
' b) 6.04 s
. 2mV(m/2(k+Kk));
2 2 s
87 | FN 21/01/2016 1.7 102 m/s 3M/m (gl) B 20k £k ym)
a) 10.7 m mg/(M+2m);
88 | FN 11/02/2016 b) 16 m/s%; 64.1 m/s? me(Mtmy(M2m) | %37
89 |FN 07/06/2016 571 N/m; 4.28 N R(5-\21) 7 N/m
a) 327.4 N/m .
90 | FN 08/07/2016 3.64 kg b) 2.29 ms 4.87
a) 66.7 m N 10.8N; [1.9N;
91 | FN 02/09/2016 by 10 /s’ 180 kavh 2.78 m/s%; 423 N 244" dall’ ocizs,
92 | FN 19/09/2016 0.60 s; 0.45 m’ 0.49 m 23 rad/s; 1.13 ] 2) 30
b) 0.25m
93 | FN 19/01/2017 0.04s; 18 m 0.94 rad i) 0.40 m
) si allontana
33 R m/s a) 2mag/(4mi+my);
: . mag/(4mi+mz) a) 0.29
94 | FN 09/02/2017 c) retta verticale b) 2¢: b) 2.45 N
d) parabola; 14 m/s; o) Ogbg '
44 .4° dall’orizz. >
95 | FN 09/06/2017 a)74s 0.44 1.46 J; 6.48 N
b) 9.8 m/s ' TS0
. a) 1.6 m
9% | FN 07/07/2017 (hxotk)/h " - k/h 2)53.1 b)2.69's
b) 0.9 m/s
¢) 3.3 rad/s
a) 21 km/h
97 | FN 08/09/2017 b) 9 km/h 3.75N; 1/4 0.049 N
c)95s
a) >\(gh/2) a) 426 N
98 | FN 25/09/2017 by V(eh) 1.72 N/m b) 199 ]
) 5 a) 8 rad/s
99 | FN 30/01/2018 2.2Km 1// Egghf_i/}_;z) L b)-84J
5 ¢) 6.7 giri
_ a) 0.49 m/s
100 | FN 22/02/2018 3 256'6&0 833 N b) 4.6 m 3 3123“”1\15
] ¢) 1.65';0.049 m )
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a) ar; (ootat)’r a) 6.48 rad/s a) 2.55 Kg
101 ] FN 25/06/2018 b)0.26 b) 21 rad/s? b) 76 N: 36 N
a) 1.6 Kg a)3.4s
102 | FN 09/07/2018 30.9°; (50 m, 29.3 m) b) 5.88 m/s%; 5)0.017
-5.88 m/s> '
a) 13.2° a) 16.2 rad/s; 0.81 m/s
103 | FN 11/09/2018 b) 0.88 s 0.37m b) 0.083 m
a) 4.5 10° m/s;
8)245N; 245N )2.8 10°s a) -0.38 rad/s
104 | FN 27/09/2018 b) 2.2 m/s D12 101 ] b) 547
c) 1.08 m/s )-1. 10
©) 4107
a) 75 kg m?
105 | FN 28/01/2019 22.5cm ;‘3 ;‘05.2]5 rad/s b) 2.8 rad/s
c) 5.6 m/s
a) 1.03 s a) 314 N/m
106 | FN 14/02/2019 b) 9.63 m/s; 0.45 rad b) 42.5 m/s? 1) 0.7
107 | FN 19/06/2019 5m 0.8m 1/2 \(M-m)/3m)
a) 0.2 m/s>
108 | FN 16/07/2019 346.4 m; 920 s b)4.32 N 7/10 vo*/(g sind)
¢) 0.041 m
a) 392 m a)vi=v2=5.19 m/s a)tg 0/3
109 ] FN 09/09/2019 b) 8.82 m/s b)m13.5 b) tg 0/2
8) ve =0 F- +3my)/
110 | FN 23/09/2019 I's;14.7m b) v/(5a) (F-pg(mi+3mo)
2 (mi+m2+1/R2)
c)3/5mv
a) h/2 a) vo/3
111 | FN 23/01/2020 by (eh) 0.44 by vi(2d)
a)-1447J a) mg
112 | FN 07/02/2020 acos ((3mi-psm2)/2my) b) 0.23 b) Y4 m R? o¢?
c) 1.58 m/s ¢) (R? @o®)/4g
a) 29.3 m/s a) 0.056 m
113 | FN 17/07/2020 b) 5873 m; 11619 m b)3.49 ] 6h
a) (2 g [ sinoy)
114 | FN 04/09/2020 vi/v2 = (ho/hy) 1.35s b) ((m+M)/mcosar) \ (2
g [ sina)
115 | FN 18/09/2020 12.1m 0.08 Kg; 50 m/s 1.5m
a) 1.98 m/s
116 | FN 01/02/2021 ;‘3 (())'Slzsm b) 58.8 N 33172‘;?;11/5
) ¢)3.13 m/s )
. Che a)14 rad/s
117 | FN 22/02/2021 2m 57° 18 m; 0°'mg by 133 ¢
a) 6.25 cm a)27N
118 | FN 21/06/2021 420 m/s? b) 5.42 rad/s b) 2.73 m/s>
¢) 19/8 Mg ¢) 0.278
a) 2 m/s a)29.4 m a)5.1m
119 | FN 05/07/2021 b) 242 m/s? b) 12 m/s b) 50 rad/s
) c)14.7m c)-51
a) 1.43 m/s 2) 5
120 | FN 09/09/2021 0.361 rad b) 0.00083 J
b)1.29s O1s
121 | FN 23/09/2021 atan ((a/(g cos 6o)+tg Bo) 206 m/s 10 m/s
] a) 15 m/s, 7 m/s
122 | FN 08/02/2022 (1)228 36207‘2; b)0.5s 43 m/s
' ' c) 7.5 m/s
a) (L+mg/k)
123 | FN 22/02/2022 -5.69 m/s’ cos(V(k/m) t) — mg/k | 9.78 rad/s
) 0.27 s
a)l5s
124 | FN 16/06/2022 24.7 m/s b) 0,083 m/s?
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c)225m
a) 1176 N a) 1.38 Kg
125 | FN 12/07/2022 b) 58.8 N's b) 0.78 Kg, 1.98 Kg ;‘3 }&77?‘}/ S
¢)39.2N ¢) 0.65 m/s '
126 | FN 09/09/2022 10.24 m/s 2mV(P/(GM + mA3))) | 2.4 10* Kg m?
a) 8 kN a) 5.1 rad/s
127 | FN 28/09/2022 b) 49.5 m/s b) 4.7 rad/s 4.3 rad/s
1)12.3 m/s o
128 | FN 31/01/2023 2)227] 0.55 rad/s 14
1) t*=Mvo/(ng(M+m))
129 | FN 22/02/2023 2) -1/2 vo* mM/(m+M) 5.1 m/s 0.300 Kg
3) ¥ M m? vo*/(M+m)?
130 | FN 23/06/2023 4110*N 0.0326 m 2) 0.464 N
b)4.0s
a)09s
131 | FN 07/07/2023 5.3710°%) b) 0.12 m/s 0.060 Kg
c)0.45m
s a) 2.69 rad/s 1) 69.1 rad/s
132 | FN 09/09/2023 1.1310°J b)-99.37] 2) 239 radls
a) 0.4 m/s
a) 24.8 m/s a) 0.0l Ns
133 | FN 22/09/2023 b)2m
Q) 20N's b) 3459 ] b) 0.98 N
a) \(2gl cos 0) .
a)2.51s ) -11.9 rad/s; in verso
134 | FN 31/01/2024 b) 2,62 m/s? b) gV(1 + 3cos20) oranio
¢) 3mg cos O
a) 3.47 m/s’ 2)0.10 m
135 | FN 19/02/2024 b) 4.59 103 ] 232m b) 1'1 6 cm
¢)36.5 kW )
. 4 a) 65!
136 | FN 19/06/2024 78.1 m/s; 305.0 J 1.210*N b)-0.614]
137 | FN 05/07/2024 0.24 m/s? 49s 1.94s
138 | FN 06/09/2024 1.19 m a) 8'908 N 4.04 57!
b) 63
a) 0.53 m
139 | FN 20/09/2024 0.031 m 0.,059 rad/s b)2.07 s




